Question 1 Scoring Guidelines

4 Complete Response

Correctly uses the graph or (informally) interpolates in

the table to approximate the medians and quartiles. The

numerical values must make practical sense within
the context of the problem.

Approximates medians for 1900 to be about 23 or 24
and for 2000 about 35 or 36.

Approximates the interquartile ranges for 1900 to be
about 40 - 12 = 28 and for 2000 abour 54 - 18 = 36.

May not calculate the IQR but gives a clear indication
in the writing that the distance between the quartiles is
a measure of spread.

States clearly that the U.S. age distribution will shift
toward larger values for 2000 as compared to 1900,
with greater variability in 2000. The statement is
consistent with the numerical results from parts (a) and
(b) and is written in such a way that it would be
understood by the general population.

Sample 1

3 Substantial Response

Approximates medians and interquartile ranges nearly
correctly from the graph or the table. Need not
calculate the IQR if there is some indication that the
quartiles can measure variability.

States clearly that the U.S. age distribution will shift
toward larger values for 2000 as compared to 1900, but
may not specifically mention the increase in variability.

2 Developing Response

Gives a poor approximation for the medians or
interquartile ranges, but seems to have some
understanding of what these measures represent.

Or, provides at least a weak but correct statement on
the nature of the changing populations.

1 Minimal Response

Indicates some understanding of at least one of the
three parts of the question.

(a) Approximate the median age for each distribution.
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Sample 1 (cont.)

(b) Approximate the interquartile range for each distribution.
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(c) Using the results from parts (a) and (b), write a sentence or two for a history textbook comparing

the age distributions for the years 1900 and 2000.
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Sample 2

(a) Approximate the median age for each distribution.

Tt e itian /dff‘ b cach Astioten ool g0 A o g whore 7%

Y A s bt Sl g 5 e cas A S A
f//;/' ,ﬁ/’%y/} 6J/’f W /éf/ )é Zf S // " W/% 55{5/] I/%/Xaf,‘é;{,/;
o A /A A ///’-/;/% 10 2riinfeor 4//7/@'./7/444/"

ﬁ/ Y/ 741 %///yy /éyf’ =55 ////{,, 4 ‘//Z A~ ,J? /%Ml;- /}/ 77 /é/,,,

/%7//55.

(b) Approximate the interquartile range for each distribution..
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(c) Using the results from parts (a) and (b), write-a sentence or-.two for a histery textbook comparing
the age distributions for the years 1900 and 2000.
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- Commentary: , ; e |
- The thinking of this student is clearly stated in words; the reasoning on both the medians and the in qua
- ranges is correct. The conclusion concisely states how both the center and spread of the ages increase b

© 1900 and 2000. Score = 4 o . : M e s




Sample 3

(a) Approximate the median age for each distribution.

The nedian o592 Lo the popu/q#bn of
|9CC lies batees !l +he =5es O{.‘ /5 a/iCﬁ
/2*5, W e e 50% of ﬂ‘e, }oopuia 1S .
a beve & be,low fﬁo\& MZJ{Q/I < aje. Ky
centained 1 (s, »5), roughly ‘?53

The Aaedien age £or the Coo I8 [aton
iies e fru oM +he C&je.s O@
’\; 5 [N f\Cp L/S/ /~O:)31/‘ // /_2 7

(b) Approximate the interquartile range for each distribution.
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(¢) Using the results fronr parts (a) and (b), write a sentence. or two for a history textbook comparing
the age distributions for the years 1900 and 2000.
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Cemmentary

 Correct t zeasonmg and good appxoxunatlons are prowded fOL both the mednns and the interquartile zanges
Although the conclusion. states that ages are increasing, the use of znterquartﬂe ranges to express this idea is a bic -

nfused Bath the ma}onty a,nd populamon ranged terms are not quxte correct. Scme =3
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